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1. On the basis of electron affinity, comment on the resemblance

of hydrogen with halogens.

o Watch Video Solution

2. Which isotope of hydrogen is radioactive in nature?



https://doubtnut.app.link/lkek2J5wfhb
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_ o Watch Video Solution

3. Which isotope of hydrogen contains equal number of

protons and neutrons?

° Watch Video Solution

4. Comment on the reaction of dihydrogen with fluorine.

o Watch Video Solution

5. Explain the use of hydrogen in the formation of vegetable

fats.

o Watch Video Solution



https://dl.doubtnut.com/l/_uelBteXLAEji
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6. Which class of covalent hydrides are considered as lewis

acids?

o Watch Video Solution

7. Association of molecules in water is due to:

o Watch Video Solution

8. Describe the nature of ionic hydrides.

° Watch Video Solution

9. Why do alcohols ( covalent compounds) dissolve in water

(ionic)?



https://dl.doubtnut.com/l/_SOCZQYroonDF
https://dl.doubtnut.com/l/_pozP9gPNxkEw
https://dl.doubtnut.com/l/_Te2Xj2zxm4AW
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_ o Watch Video Solution

10. Which properties of hydrogen are responsible for
moderation of the climate and body temperature of living

beings?

° Watch Video Solution

11. Compare the density of ice and water.

° Watch Video Solution

12. Does water gets oxidised in the process of photosynthesis?

o Watch Video Solution



https://dl.doubtnut.com/l/_7SCjPdkzcAvh
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13. What type of water forms scum with soap?

° Watch Video Solution

14. Write the reaction that takes place on adding lime to water

containing magnesium bicarbonate.

° Watch Video Solution

15. Explain with the help of reactions that how heavy water is

used in the preparation of deuterium compounds?

o Watch Video Solution

16. What is the chemical composition of calgon ?



https://dl.doubtnut.com/l/_kFyoqcSK9LB9
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_ o Watch Video Solution

17. Calculate the strength of 30 volume solution of hydrogen

peroxide.

° Watch Video Solution

18. What is the percentage strength of a solution of 100 volume

H,045?

o Watch Video Solution

19. Why H50, is kept away from dust?

o Watch Video Solution



https://dl.doubtnut.com/l/_ofC6A1xaGsBs
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20. PbS(s) + 4H,0,(aq) — PbSO4(s) + 4H,0(l)

In the above reaction, H,O, acts as a/an_____agent.

o Watch Video Solution

Try Yourself

1. Explain how hydrogen differs from alkali metals on the basis

of ionisation energies.

o Watch Video Solution

2. On the basis of their electronic configuration, explain why

alkali metals are highly reactive?

o Watch Video Solution



https://dl.doubtnut.com/l/_JiAxff5Uxuja
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https://dl.doubtnut.com/l/_LHkZTVZqBiR6

3. Which isotope of hydrogen has no neutron?

o Watch Video Solution

4. Which isotope of hydrogen is known as ordinary hydrogen?

° Watch Video Solution

5. Define isotopes why do isotopes have same atomic number

but differente mass numbers? Explain with the help an example.

o Watch Video Solution



https://dl.doubtnut.com/l/_LHkZTVZqBiR6
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6. Comment on the reactions of dihydrogen with (a) chlorine,

(b) sodium and (c) copper (Il) oxide.

o Watch Video Solution

7. In what ratio is nitrogen and hydrogen required to form

ammonia?

° Watch Video Solution

8. In the laboratory preparation of hydrogen, pure zinc is not

used because

° Watch Video Solution



https://dl.doubtnut.com/l/_KfNwkGWDNIzd
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https://dl.doubtnut.com/l/_CgE2dJvzbr2d

9. What is 'syn' gas?

° Watch Video Solution

10. Name the groups whose elements prefer to form molecular

hydrides.

° Watch Video Solution

11. a. Would you expect the hydrides of N, O and F' to have
lower boiling points than the hydrides of their subsequent
group members? Give reason.

b. Can phosphorous with outer electronic configuration 3s%3p*

form PHy?


https://dl.doubtnut.com/l/_qsbtFyx8RE9v
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https://dl.doubtnut.com/l/_TuWD4kq5pNUF

c. How many hydrogen-bonded water molecules(s) are

associated with CuS0O,.5H,0?

o Watch Video Solution

12. a. Would you except the hydrides of N, O and F' to have
lower boiling points than the hydrides of their subsequent
group members? Give reason.

b. Can phosphorous with outer electronic configuration 3s*3p*
form PHy?

c. How many hydrogen-bonded water molecules(s) are

associated with CuS0,4.5H,0?

° Watch Video Solution

13. Non-stoichiometric compounds are



https://dl.doubtnut.com/l/_TuWD4kq5pNUF
https://dl.doubtnut.com/l/_4KS6x69dKnSv
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| ° Watch Video Solution

14. Which basis class of molecular hydrides act as lewis bases?

° Watch Video Solution

15. How is lithium aluminium hydride prepared? What is its

important use?

o Watch Video Solution

16. How many hydrogen bonded water molecules are associated

with CuSO,. 5H50 ?

o Watch Video Solution
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17. Which property of water is responsible for its very strong

hydrating tendency?

o Watch Video Solution

18. Water acts as a/an when it reacts with ammonia.

o Watch Video Solution

19. Cation exchange resins are generated by treating with

o Watch Video Solution

20. Why temporary hardness of water is called so?

o Watch Video Solution



https://dl.doubtnut.com/l/_dyTZ31dLhf4K
https://dl.doubtnut.com/l/_G9aiR4KX0hg0
https://dl.doubtnut.com/l/_qDv3BTbPCUAn
https://dl.doubtnut.com/l/_lrP85E2TRxek

21. Which anions produce permanent hardness in water?

° Watch Video Solution

22. Which of the following pair of ions makes the water

hard(temporary) ?

° Watch Video Solution

23. Mention some important uses of heavy water.

° Watch Video Solution

24. Strength of 10 volume hydrogen peroxide solution means


https://dl.doubtnut.com/l/_lrP85E2TRxek
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o Watch Video Solution

25. H,0, is always stored in black bottles because

o Watch Video Solution

26.1s H,0O, planar in nature?

o Watch Video Solution

27. The ionisation energy of hydrogen is high as compared to

alkali metals because of

o Watch Video Solution



https://dl.doubtnut.com/l/_YTrXAxvy8Byq
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28. Calculate oxidation number of Br in Br;QOg.

o Watch Video Solution

29. Which of the following isotopes of hydrogen is radioactive?

o Watch Video Solution

30. Hydrogen accepts an electron to form inert gas

configuration. In this it resembles

° Watch Video Solution

31. The volume of O, liberated from 0.96g of H,O, is

o Watch Video Solution



https://dl.doubtnut.com/l/_KX0fdm42tqYb
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32. The composition of tritium is

o Watch Video Solution

33. Hydrogen acts as a reducing agent and thus resembles

A. Halogens

B. Noble gas

C. Radio active element

D. Alkali metal

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_5Hv5K64TrNXd
https://dl.doubtnut.com/l/_6vwEzSXneDqz
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34. Which position for hydrogen explain all its properties ?

A. (a) At the top of halogens

B. (b) at the top of alkali metals

C. (c) At the top of carbon family

D. (d) None of these

Answer:

° Watch Video Solution

35. lonisation energy of hydrogen is

° Watch Video Solution



https://dl.doubtnut.com/l/_rqoNnGkVXssf
https://dl.doubtnut.com/l/_aYSqOTVapzk7

36. Which of the following statements concerning protium,
deuterium and tritium is not true ? A)they are isotopes of each
other B) they have similar electronic configurations C )they exist

in the nature in the ratio 12 3 D) their atomic masses are in the

ratio 1:2:3

° Watch Video Solution

37. Deuterium differs from hydrogen ?

o Watch Video Solution

38. Number of nucleons in Dy molecule is

o Watch Video Solution



https://dl.doubtnut.com/l/_fehB9xE9QNpy
https://dl.doubtnut.com/l/_WvUFPFAscsr7
https://dl.doubtnut.com/l/_nXMKPRnFu5Lw
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39. Water gas is ?

° Watch Video Solution

40. The catalyst used in the water-gas shift reaction is

o Watch Video Solution

41. The reaction between which of the following reactants

produces hydrogen?

A.(a) Zn + HCI

B. (b) BaO, + HCI

C. (C) KgSQOg + HzO

D.(d) NayO, + HCI


https://dl.doubtnut.com/l/_iUcod8L4ONM8
https://dl.doubtnut.com/l/_uZtZoahLGamq
https://dl.doubtnut.com/l/_B8qS1Lhdx7vO

Answer:

° Watch Video Solution

42. High purity dihydrogen is obtained by electrolysing

o Watch Video Solution

43. Hydrogen is not obtained when zinc reacts with : 1)Cold

water 2) Dil. H2SO4 3)Dil. HCL 4) hot 20% NaOH sol.

° Watch Video Solution

44.The process by which ammonia is formed from nitrogen and

hydrogen is

| o |


https://dl.doubtnut.com/l/_B8qS1Lhdx7vO
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[ & Watch Video Solution

45. Hydroformylation of olefins yields

° Watch Video Solution

46. Which of the following is not the use of dihydrogen?

A. it is used as a bleaching agent

B. it is used in preparation of ammonia

C.it is used in the preparation of methanol

D. it is used as a rocket fuel

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_5YmUTpY9jBgU
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47. Alkali metal hydrides react with water to give

o Watch Video Solution

48. Explain the following:

lonic compounds are usually hard crystals.

o Watch Video Solution

49. Group 2 hydrides with significant covalent character is/are

° Watch Video Solution

50. In which of the compounds does hydrogen have an

oxidation state of -1 ?


https://dl.doubtnut.com/l/_SwR7rrCOWHyR
https://dl.doubtnut.com/l/_Ot4LMUm7u3Ob
https://dl.doubtnut.com/l/_0YWW8vh0Wum6
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° Watch Video Solution

51. Then H-O-H angle in water molecule is about

° Watch Video Solution

52.The high density of water compared to ice is due to
(a)hydrogen bonding interactions

(b)dipole -dipole interactions

(c)dipole -induced dipole interactions

(d)induced dipole -induced dipole interactions

o Watch Video Solution



https://dl.doubtnut.com/l/_117FXP2GJheq
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https://dl.doubtnut.com/l/_oIIWeZSScvv3

53. Explain how hydrogen differs from alkali metals on the basis

of ionisation energies.

° Watch Video Solution

54. On the basis of electronic configureation, how hydrogen

resembies alkali metals ?

° Watch Video Solution

55. Which isotope of hydrogen has no neutron?

o Watch Video Solution

56. Which isotope of hydrogen is known as ordinary hydrogen?


https://dl.doubtnut.com/l/_6QaQ82wH0FKP
https://dl.doubtnut.com/l/_r6JkXv6VEGgP
https://dl.doubtnut.com/l/_Rq8LpXyZZmXw
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° Watch Video Solution

57. Write the names of the three isotopes of hydrogen. What is

the mass ratio of thse isotopes?

o Watch Video Solution

58. Define isotopes why do isotopes have same atomic number

but differente mass numbers? Explain with the help an example.

° Watch Video Solution

59. Comment on the reactions of dihydrogen with (i) chlorine,

(if) sodium, and (iii) copper(ll) oxide

o Watch Video Solution



https://dl.doubtnut.com/l/_pzfBVAzhFGMm
https://dl.doubtnut.com/l/_yXEGqkgVPFkF
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60. In what ratio is nitrogen and hydrogen required to form

ammonia?

° Watch Video Solution

61. In the laboratory preparation of hydrogen, pure zinc is not

used because

o Watch Video Solution

62. What is 'syn' gas?

o Watch Video Solution



https://dl.doubtnut.com/l/_18IOoml0O6Yp
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63. On what basis are the molecular hydrides classified?

° Watch Video Solution

64. a. Would you expect the hydrides of N, O and F' to have
lower boiling points than the hydrides of their subsequent
group members? Give reason.

b. Can phosphorous with outer electronic configuration 3s%3p*
form PHy?

c. How many hydrogen-bonded water molecules(s) are

associated with CuSQO,.5H,0?

o Watch Video Solution



https://dl.doubtnut.com/l/_wHSyKMBagV4g
https://dl.doubtnut.com/l/_FfetxUg25nj4

65. Can phosphorus with outer electronic configureation

3s%3p® form PHS;?

° Watch Video Solution

66. What do you understand by the term 'non-stoichiometric
hydrides' ? Do you expect this type of hydrides to be formed by

alkali metals'? Justify your answer.

o Watch Video Solution

67. Which basis class of molecular hydrides act as lewis bases?

o Watch Video Solution



https://dl.doubtnut.com/l/_NJgHQXUOX4Wi
https://dl.doubtnut.com/l/_32pHv5msd9t2
https://dl.doubtnut.com/l/_138Mha9NOGqz

68. How is lithium hydride useful ?

o Watch Video Solution

69. How many hydrogen bonded water molecules are associated

o Watch Video Solution

70. Which property of water is responsible for its very strong

hydrating tendency?

o Watch Video Solution

71. Water acts as a/an when it reacs with ammonia.


https://dl.doubtnut.com/l/_vro28NAp2jIy
https://dl.doubtnut.com/l/_597wwtOjZzFi
https://dl.doubtnut.com/l/_NbTbIb7xnSQW
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o Watch Video Solution

72. The number of water molecule(s) derectly bonded to the

metal centre in CuSO,45H50 is

o Watch Video Solution

73. Cation exchange resins are generated by treating with

o Watch Video Solution

74. Why temporary hardness of water is called so?

° Watch Video Solution



https://dl.doubtnut.com/l/_NZ2qGWlVKWd4
https://dl.doubtnut.com/l/_zLCPeOiRc0xF
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https://dl.doubtnut.com/l/_nnJD43A3caJw

75. Which anions produce permanent hardness in water?

o Watch Video Solution

76. Which of the following pair of ions makes the water

hard(temporary) ?

o Watch Video Solution

77. Write few uses of heavy water.

° Watch Video Solution

78. Calculate the strength of 10 volume solution of hydrogen

peroxide.


https://dl.doubtnut.com/l/_RJxEa8ZVJftJ
https://dl.doubtnut.com/l/_4E6jUNx2lPyb
https://dl.doubtnut.com/l/_0QrhZn1KXrOa
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o Watch Video Solution

79. How is H,0, stored ?

o Watch Video Solution

80.1s H,O, planar in structure ?

o Watch Video Solution

Assignment Section A

1. Explain how hydrogen differs from alkali metals on the basis

of ionisation energies.


https://dl.doubtnut.com/l/_gKAb42LfCHlE
https://dl.doubtnut.com/l/_PbQIMkLNd1Fd
https://dl.doubtnut.com/l/_eQO9lfzdljFe
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A. One electron in outermost shell

B. Small size

C. One proton in its nucleus

D. No neutron

Answer: B

o Watch Video Solution

2. On the basis of their electronic configuration, explain why

alkali metals are highly reactive?

A. Hydrogen has the same IL.E. as that of alkali metals

B. Hydrogen has strong tendency to gain one electron same

as that of alkali metals


https://dl.doubtnut.com/l/_jvo9vV8a6Ldi
https://dl.doubtnut.com/l/_LHkZTVZqBiR6

C. Hydrogen molecule is diatomic so are the halogens

D. Electron affinity of hydrogen is same as that of halogens

Answer: C

° Watch Video Solution

3. Which isotope of hydrogen has no neutron?

A. Protium

B. Tritium

C. Deuterium

D. Neutron

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_LHkZTVZqBiR6
https://dl.doubtnut.com/l/_996Wwzdx4UEw

4. Which isotope of hydrogen is known as ordinary hydrogen?

A. halogens

B. Alkali metals

C. Alkaline earth metals

D. Chalcogens

Answer: A

° Watch Video Solution

5. Define isotopes why do isotopes have same atomic number

but differente mass numbers? Explain with the help an example.

A.224.6 mL


https://dl.doubtnut.com/l/_996Wwzdx4UEw
https://dl.doubtnut.com/l/_vG3H7NvRCAQn
https://dl.doubtnut.com/l/_jmbYwWR6iF3x

B.320.5mL

C.390.0 mL

D. 1125 mL

Answer: B

o Watch Video Solution

6. Comment on the reactions of dihydrogen with (a) chlorine,

(b) sodium and (c) copper (ll) oxide.

A.1electron, 1 proton, 1 neutron

B. 1 electron, 2 protons, 1 neutron

C.1electron, 1 proton, 2 neutrons.

D. 1 electron, 1 proton, 3 neutrons


https://dl.doubtnut.com/l/_jmbYwWR6iF3x
https://dl.doubtnut.com/l/_KfNwkGWDNIzd

Answer: C

° Watch Video Solution

7. In what ratio is nitrogen and hydrogen required to form

ammonia?

A. halogen

B. Noble gas

C. Radioactive elements

D. Alkali metals

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_KfNwkGWDNIzd
https://dl.doubtnut.com/l/_Gybr9yGzVRXC

8. In the laboratory preparation of hydrogen, pure zinc is not

used because

A. At the top of halogens

B. At the top of alkali metals

C. At the top of chacogens

D.Both 1and 2

Answer: D

° Watch Video Solution

9. What is 'syn' gas?

A. Equal to that of fluorine

B. Lower than that of fluorine


https://dl.doubtnut.com/l/_CgE2dJvzbr2d
https://dl.doubtnut.com/l/_qsbtFyx8RE9v

C.slightly higher than that of fluorine

D. Much higher than that of fluorine

Answer: B

o Watch Video Solution

10. Name the groups whose elements prefer to form molecular

hydrides.

A. They are isotopes of each other

B. They have similar electronic configurations

C. they exist in the nature in the ratio of 1:2:3 respectively

D. Their mass numbers are in the ratio 1:2:3 repsectively.

Answer: C



https://dl.doubtnut.com/l/_qsbtFyx8RE9v
https://dl.doubtnut.com/l/_WHJ0YZ3eB1Zr

| o Watch Video Solution

1. a. Would you expect the hydrides of N, O and F' to have
lower boiling points than the hydrides of their subsequent
group members? Give reason.

b. Can phosphorous with outer electronic configuration 3s%3p*
form PHy?

c. How many hydrogen-bonded water molecules(s) are

associated with CuS0O,.5H,0?

A. Chemical properties
B. Physical properties
C. Both chemical and physical properties

D. Their radioactive properties.

Answer: B



https://dl.doubtnut.com/l/_WHJ0YZ3eB1Zr
https://dl.doubtnut.com/l/_TuWD4kq5pNUF

I ° Watch Video Solution

12. a. Would you except the hydrides of N, O and F' to have
lower boiling points than the hydrides of their subsequent
group members? Give reason.

b. Can phosphorous with outer electronic configuration 3s*3p®
form PHy?

c. How many hydrogen-bonded water molecules(s) are

associated with CuS0,.5H,0?

Al
B.2
C.3

D.4

Answer: D


https://dl.doubtnut.com/l/_TuWD4kq5pNUF
https://dl.doubtnut.com/l/_4KS6x69dKnSv

° Watch Video Solution

13. Non-stoichiometric compounds are

A.CO + H,
B.CO, + H,
C.CO + Hy,O

D.CO, + N,

Answer: A

o Watch Video Solution

14. Which basis class of molecular hydrides act as lewis bases?

A. Sodium arsenite


https://dl.doubtnut.com/l/_4KS6x69dKnSv
https://dl.doubtnut.com/l/_BaYnEdqotB6I
https://dl.doubtnut.com/l/_OocSHy3rEBUv

B. Nickel

C. Potassium permanganate

D. Iron chromate

Answer: D

° Watch Video Solution

15. How is lithium aluminium hydride prepared? What is its

important use?

A.Zn + HCI

B. BaO, + HCl

C. K3,5,05 + H,O

D. Na202 + HCI


https://dl.doubtnut.com/l/_OocSHy3rEBUv
https://dl.doubtnut.com/l/_DhQhzjZx5Wzm

Answer: A

o Watch Video Solution

16. How many hydrogen bonded water molecules are associated

with CuS0O,. 5H50 ?

A. Warm aqueous barium hydroxide

B. Brine solution

C. Acidified sulphate solution

D. Water gas

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_DhQhzjZx5Wzm
https://dl.doubtnut.com/l/_gvffIiNZhnug

17. Which property of water is responsible for its very strong

hydrating tendency?

A. Cold water

B. Hot NaOH solution

C. Conc. Sulphuric acid

D. Dilute HCI

Answer: C

° Watch Video Solution

18. Water acts as a/an when it reacts with ammonia.

A. Contact process

B. Haber process


https://dl.doubtnut.com/l/_dyTZ31dLhf4K
https://dl.doubtnut.com/l/_G9aiR4KX0hg0

C. Ostwald process

D. Hydrogenation process

Answer: B

° Watch Video Solution

19. Cation exchange resins are generated by treating with

A. Alkanes

B. Alkynes

C. Aldehydes

D. Carboxylic acids

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_G9aiR4KX0hg0
https://dl.doubtnut.com/l/_qDv3BTbPCUAn

20. Why temporary hardness of water is called so?

A. It is used as a bleaching agent

B. It is used in the preparation of ammonia

C. It is used in the preparation of methanol

D. It is used as a rocket fuel

Answer: A

° Watch Video Solution

21. Which anions produce permanent hardness in water?

A. Acidic solution

B. Basic solution


https://dl.doubtnut.com/l/_qDv3BTbPCUAn
https://dl.doubtnut.com/l/_lrP85E2TRxek
https://dl.doubtnut.com/l/_s7TE3snTlYbp

C. Neutral solution

D. Hydride ion

Answer: B

° Watch Video Solution

22. Which of the following pair of ions makes the water

hard(temporary) ?

A. Good conductors of electricity in solid state

B. Stoichiometric compounds

C. Volatile

D. Non-crystalline

Answer: B



https://dl.doubtnut.com/l/_s7TE3snTlYbp
https://dl.doubtnut.com/l/_wGqhwxyfvFl0

| ° Watch Video Solution

23. Mention some important uses of heavy water.

A. BeI—I2

C. CCLH2

D.Both 1and 2

Answer: D

o Watch Video Solution

24. Strength of 10 volume hydrogen peroxide solution means

A.CH,


https://dl.doubtnut.com/l/_wGqhwxyfvFl0
https://dl.doubtnut.com/l/_ZTgZrcFrd8Yg
https://dl.doubtnut.com/l/_YTrXAxvy8Byq

B. NH,

C.HCI

D. C(IHz

Answer: D

° Watch Video Solution

25. H,0, is always stored in black bottles because

A.90°

B.180°

C.109° 28’

D.104.5°

Answer: D


https://dl.doubtnut.com/l/_YTrXAxvy8Byq
https://dl.doubtnut.com/l/_MUPwFJswyvFs

° Watch Video Solution

26.1s H,0O, planar in nature?

A. Intense covalent bonding

B. Dipole-induced dipole interaction

C. Intense hydrogen bonding

D. Dipole-dipole interactions

Answer: C

° Watch Video Solution

27. The ionisation energy of hydrogen is high as compared to

alkali metals because of


https://dl.doubtnut.com/l/_MUPwFJswyvFs
https://dl.doubtnut.com/l/_NMIRMtWaGBQ2
https://dl.doubtnut.com/l/_aeGyrP4Jbv0O

A. One electron in outermost shell

B. Small size

C. One proton in its nucleus

D. No neutron

Answer: B

o Watch Video Solution

28. Calculate oxidation number of Br in Br3;0Os.

A. Hydrogen has the same L.E. as that of alkali metals

B. Hydrogen has strong tendency to gain one electron same

as that of alkali metals

C. Hydrogen molecule is diatomic so are the halogens


https://dl.doubtnut.com/l/_aeGyrP4Jbv0O
https://dl.doubtnut.com/l/_KX0fdm42tqYb

D. Electron affinity of hydrogen is same as that of halogens

Answer: C

° Watch Video Solution

29. Which of the following isotopes of hydrogen is radioactive?

A. Protium

B. Tritium

C. Deuterium

D. Neutron

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_KX0fdm42tqYb
https://dl.doubtnut.com/l/_HIaCCUw1zwpo
https://dl.doubtnut.com/l/_rO6wNvCdIVI7

30. Hydrogen accepts an electron to form inert gas

configuration. In this it resembles

A. halogens

B. Alkali metals

C. Alkaline earth metals

D. Chalcogens

Answer: A

o Watch Video Solution

31. The volume of O, liberated from 0.96g of H,O, is

A.224.6 mL

B.320.5mL


https://dl.doubtnut.com/l/_rO6wNvCdIVI7
https://dl.doubtnut.com/l/_5Hv5K64TrNXd

C.390.0 mL

D.112.5 mL

Answer: B

° Watch Video Solution

32. The composition of tritium is

A.1electron, 1 proton, 1 neutron

B. 1 electron, 2 protons, 1 neutron

C.1electron, 1 proton, 2 neutrons.

D. 1 electron, 1 proton, 3 neutrons

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_5Hv5K64TrNXd
https://dl.doubtnut.com/l/_6vwEzSXneDqz

33. Hydrogen acts as a reducing agent and thus resembles

A. Halogens

B. Noble gas

C. Radio active element

D. Alkali metal

Answer: D

° Watch Video Solution

34. Which position for hydrogen explain all its properties ?

A. (a) At the top of halogens

B. (b) at the top of alkali metals


https://dl.doubtnut.com/l/_6vwEzSXneDqz
https://dl.doubtnut.com/l/_akDxaus8kAUW
https://dl.doubtnut.com/l/_rqoNnGkVXssf

C. (c) At the top of carbon family

D. (d) None of these

Answer: D

° Watch Video Solution

35. lonisation energy of hydrogen is

A. Equal to that of fluorine

B. Lower than that of fluorine

C.slightly higher than that of fluorine

D. Much higher than that of fluorine

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_rqoNnGkVXssf
https://dl.doubtnut.com/l/_aYSqOTVapzk7

36. Which of the following statements concerning protium,
deuterium and tritium is not true ? A)they are isotopes of each
other B) they have similar electronic configurations C )they exist

in the nature in the ratio 12 3 D) their atomic masses are in the
ratio 1:2:3

A. They are isotopes of each other

B. They have similar electronic configurations

C. they exist in the nature in the ratio of 1:2:3 respectively

D. Their mass numbers are in the ratio 1:2:3 repsectively.

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_aYSqOTVapzk7
https://dl.doubtnut.com/l/_fehB9xE9QNpy

37. Deuterium differs from hydrogen ?

A. Chemical properties

B. Physical properties

C. Both chemical and physical properties

D. Their radioactive properties.

Answer: B

o Watch Video Solution

38. Number of nucleons in Dy molecule is

Al

B.2


https://dl.doubtnut.com/l/_WvUFPFAscsr7
https://dl.doubtnut.com/l/_nXMKPRnFu5Lw

C.3

D.4

Answer: D

° Watch Video Solution

39. Water gas is ?

A.CO + H,

B.CO, + H,

C.CO + H,0

D.CO; + N,

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_nXMKPRnFu5Lw
https://dl.doubtnut.com/l/_iUcod8L4ONM8

40. The catalyst used in the water-gas shift reaction is

A. Sodium arsenite

B. Nickel

C. Potassium permanganate

D. Iron chromate

Answer: D

° Watch Video Solution

41. The reaction between which of the following reactants

produces hydrogen?

A.(a) Zn + HCI


https://dl.doubtnut.com/l/_iUcod8L4ONM8
https://dl.doubtnut.com/l/_uZtZoahLGamq
https://dl.doubtnut.com/l/_B8qS1Lhdx7vO

B. (b) BaO, + HCI

C. (C) KQS208 + HQO

D. (d) NayO, + HCI

Answer: A

° Watch Video Solution

42. High purity dihydrogen is obtained by electrolysing

A. Warm aqueous barium hydroxide

B. Brine solution

C. Acidified sulphate solution

D. Water gas

Answer: A


https://dl.doubtnut.com/l/_B8qS1Lhdx7vO
https://dl.doubtnut.com/l/_ZPYxCRzehvcg

° Watch Video Solution

43. Hydrogen is not obtained when zinc reacts with

water 2) Dil. H2SO4 3)Dil. HCL 4) hot 20% NaOH sol.

A. Cold water

B. Hot NaOH solution

C. Conc. Sulphuric acid

D. Dilute HCI

Answer: C

: 1)Cold

o Watch Video Solution



https://dl.doubtnut.com/l/_ZPYxCRzehvcg
https://dl.doubtnut.com/l/_EVC3OAlHN3JH

44.The process by which ammonia is formed from nitrogen and

hydrogen is

A. Contact process

B. Haber process

C. Ostwald process

D. Hydrogenation process

Answer: B

° Watch Video Solution

45. Hydroformylation of olefins yields

A. Alkanes

B. Alkynes


https://dl.doubtnut.com/l/_5YmUTpY9jBgU
https://dl.doubtnut.com/l/_YNGMt9tV3Nzv

C. Aldehydes

D. Carboxylic acids

Answer: C

° Watch Video Solution

46. Which of the following is not the use of dihydrogen?

A.it is used as a bleaching agent

B. it is used in preparation of ammonia

C.it is used in the preparation of methanol

D. it is used as a rocket fuel

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_YNGMt9tV3Nzv
https://dl.doubtnut.com/l/_wQN7nlZ4bOUV

47. Alkali metal hydrides react with water to give

A. Acidic solution

B. Basic solution

C. Neutral solution

D. Hydride ion

Answer: B

° Watch Video Solution

48. Explain the following:

lonic compounds are usually hard crystals.

A. Good conductors of electricity in solid state


https://dl.doubtnut.com/l/_wQN7nlZ4bOUV
https://dl.doubtnut.com/l/_SwR7rrCOWHyR
https://dl.doubtnut.com/l/_Ot4LMUm7u3Ob

B. Stoichiometric compounds

C. Volatile

D. Non-crystalline

Answer: B

° Watch Video Solution

49. Group 2 hydrides with significant covalent character is/are

A. B€H2

C. CCLHZ

D.Both 1and 2

Answer: D


https://dl.doubtnut.com/l/_Ot4LMUm7u3Ob
https://dl.doubtnut.com/l/_0YWW8vh0Wum6

° Watch Video Solution

50. In which of the compounds does hydrogen have an

oxidation state of -1 ?

A.CH,

B. NH,

C.HCI

D. CCLHQ

Answer: D

o Watch Video Solution

51. Then H-O-H angle in water molecule is about


https://dl.doubtnut.com/l/_0YWW8vh0Wum6
https://dl.doubtnut.com/l/_117FXP2GJheq
https://dl.doubtnut.com/l/_u5VTFMmvogev

A.90°

B.180°

C.109°28’

D.104.5°

Answer: D

o Watch Video Solution

52.The high density of water compared to ice is due to
(a)hydrogen bonding interactions

(b)dipole -dipole interactions

(c)dipole - induced dipole interactions

(d)induced dipole -induced dipole interactions

A. Intense covalent bonding


https://dl.doubtnut.com/l/_u5VTFMmvogev
https://dl.doubtnut.com/l/_oIIWeZSScvv3

B. Dipole-induced dipole interaction

C. Intense hydrogen bonding

D. Dipole-dipole interactions

Answer: C

o Watch Video Solution

53. Hardness of water cannot be removed by

A. Treating with washing soda

B. Boiling

C. Adding calgon

D. Addition of chlorine.

Answer: D


https://dl.doubtnut.com/l/_oIIWeZSScvv3
https://dl.doubtnut.com/l/_23XH6upIiUhp

° Watch Video Solution

54. Temparary hardness may be removed from water adding.

A. CaCOs
B.Ca(OH),
C. CCLSO4

D. HCI

Answer: B

o Watch Video Solution

55. H,0, is stored in

A. Glass containers


https://dl.doubtnut.com/l/_23XH6upIiUhp
https://dl.doubtnut.com/l/_rhCoamX1wBCl
https://dl.doubtnut.com/l/_nFBVcOJDPmFh

B. Metallic vessels

C. Plastic vessels

D. Conttainers exposed to sunlight.

Answer: C

° Watch Video Solution

56. Permanent hardness can be removed by adding

A. Slaked lime

B. Sodium bicarbonate

C. Washing soda

D. Calcium hydroxide

Answer: C


https://dl.doubtnut.com/l/_nFBVcOJDPmFh
https://dl.doubtnut.com/l/_ZsCWUiU9hd3P

° Watch Video Solution

57. Which of the following statements is not true?

A. the temporary hardness is due to presence of Ca and Mg

bicarbonates

B. permanent hardness is removed by adding lime

C. permanent hardness is due to the presence soluble Ca

and Mg sulphates and chlorides

D. Temporary hardness is removed by boiling

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_ZsCWUiU9hd3P
https://dl.doubtnut.com/l/_WKfwCuIay66z

58. Permutit is :

A. Hydrated sodium aluminium silicate

B. Sodium hexaphosphate

C. Sodium bicarbonate

D. Calcium hydroxide

Answer: A

o Watch Video Solution

59. In cation exchange process for removing hardness of water,

the resulting water turns

A. Acidic

B. Basic


https://dl.doubtnut.com/l/_oIVC5SWIts0C
https://dl.doubtnut.com/l/_QMmXPCAs2z2E

C. Neutral

D.Both 1and 2

Answer: A

o Watch Video Solution

60. Heavy water is

A. De-mineralised water

B. De-ionized water

C. Ordinary water containing dissolved salts of heavy metals
D. It is the compounds of heavier isotope of hydrogen with

oxygen (D,O)

Answer: D


https://dl.doubtnut.com/l/_QMmXPCAs2z2E
https://dl.doubtnut.com/l/_iMXD8Cm4E09Y

o Watch Video Solution

61. The structure of HyO, is

A. Open book like

B. Closed book like

C. Pyramidal

D. Linear

Answer: A

° Watch Video Solution

62. The dihedral angle in gaseous H50, is

A 111.5°


https://dl.doubtnut.com/l/_iMXD8Cm4E09Y
https://dl.doubtnut.com/l/_eU7CIooUrwR4
https://dl.doubtnut.com/l/_rtpTWrro0Fgz

B.90.2°

C.94.8°

D.101.9°

Answer: B

° Watch Video Solution

Assignment Section B

1. Dipole moment of HyO, is non-zero as

A. Two dipole moments are opposite but unequal
B. Two dipole moments are opposite and equal

C. Two dipole moments are equal but not at 180°


https://dl.doubtnut.com/l/_rtpTWrro0Fgz
https://dl.doubtnut.com/l/_C5oJ4Yf7gpAL

D. Two dipole moments are equal but non-planar.

Answer: D

° Watch Video Solution

2. An orange coloured solution acidified with H,S0O, and
treated with a substance "X’ gives a blue coloured solution of

CrQOs.The substance "X ' is

A.H,O

B. Dil. HCI

C. H,O,

D. Conc. HCI

Answer: C

| o |


https://dl.doubtnut.com/l/_C5oJ4Yf7gpAL
https://dl.doubtnut.com/l/_mBbbJTM4hX1m

l b Watch Video Solution ]

3. How many hydrogen bonds can be formed by a water

molecule?

A2

B.8

C.1

D.4

Answer: D

o Watch Video Solution

4. When 1 mole of PbS reacts completely with H,O,


https://dl.doubtnut.com/l/_mBbbJTM4hX1m
https://dl.doubtnut.com/l/_oM0XjjxDR0Ec
https://dl.doubtnut.com/l/_XB7TIWA92K5M

A. H, is liberated

B. O, is liberated

C. 4 moles of H,O5 consumed

D. Sulphur is converted to sulphite

Answer: C

o Watch Video Solution

5. The term hydride gap refers to which region of periodic

table?

A. Groups 6to 9

B.groups 7to 9

C.groups 7 to 10


https://dl.doubtnut.com/l/_XB7TIWA92K5M
https://dl.doubtnut.com/l/_CDU037jM3TxF

D. groups 5to 7

Answer: B

° Watch Video Solution

6. Which one is true about nascent hydrogen?

A. More reactive than molcular hydrogen

B. can be produced in situ

C.Show similarity exactly with hydrogen in reduction

reactions

D.both 1and 2

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_CDU037jM3TxF
https://dl.doubtnut.com/l/_CQx9Pu24GHdW

7. 2-Ethyl anthraquinol when oxidised in air produces

A. Oy

B. H,O,

C. H,O

D.CyH;OH

Answer: B

o Watch Video Solution

8.In alkaline medium, which elements can produce hydrogen?

A.Zn, Si

B. Cu, Ag


https://dl.doubtnut.com/l/_CQx9Pu24GHdW
https://dl.doubtnut.com/l/_rkIMvXenrwq4
https://dl.doubtnut.com/l/_mDIThRznIjAH

C.Cu, N2

D.Al, C

Answer: A

o Watch Video Solution

9. Select the incorrect statement

A. Ortho and para hydrogen are different due to difference

in their nuclear spins

B. Ortho and para hydrogen are different due to difference

in their electron spins

C. Para hydrogen has a lower internal energy than that of

ortho hydrogen


https://dl.doubtnut.com/l/_mDIThRznIjAH
https://dl.doubtnut.com/l/_eSoYowI1AitT

D. Para hydrogen is more stable at lower temperature

Answer: A

° Watch Video Solution

10. Hydride ion is a

A. Strong conjugate acid of H,
B. Strong conjugate base of H,
C. Strong conjugate acid of H ©

D. Strong conjugate base of H ~

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_eSoYowI1AitT
https://dl.doubtnut.com/l/_IYof2Lf60znf
https://dl.doubtnut.com/l/_ZyQsJSUg5DKu

1. lonic hydrides react with water to

A. Give acidic solutions

B. Give basic solutions

C. Produce hydride ions

D. Produce protons

Answer: B

° Watch Video Solution

12. The boiling point of water is exceptionally high because

A. Covalent bond between Hand O

B. Linear shape

C. Hydrogen bonding


https://dl.doubtnut.com/l/_ZyQsJSUg5DKu
https://dl.doubtnut.com/l/_UMwoVPlol3k1

D. Non-linear shape

Answer: C

° Watch Video Solution

13. Metallic Hydrides

A. Are also called interstitial hydrides
B. Are non-stoichiometric, being deffcient in hydrogen
C.Are poor conductors of electricity, exhibit less

paramagnetism and have hydrogen as atom and not as a

molecular.

D. Have all properties given above

Answer: D



https://dl.doubtnut.com/l/_UMwoVPlol3k1
https://dl.doubtnut.com/l/_ykPRDmqFshoy

° Watch Video Solution

14. In the following reaction using isotopic .0 in
HQO2, 2Mn04_ + 3H20%8 — 2Mn02 + 302 + 2H20 + 20H ~
isotopic oxygen goes,

A. Both with O,

B. Both with MnQO,

C.Both with OH —

D. One with Oy and one with MnQO,

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_ykPRDmqFshoy
https://dl.doubtnut.com/l/_iAsXy5ZJfWnX

15. H,O, can be obtained when following reacts with H,SO,

excepts with

A. PbO,

B. Ba02

C. Na202

D. S’T’Oz

Answer: A

° Watch Video Solution

16. Consider LiH, M gH, and CuH:

A. All are ionic hydrides

B. LiH, M gH> are ionic and CuH is metallic hydride


https://dl.doubtnut.com/l/_Ep2N1yV4aBUR
https://dl.doubtnut.com/l/_xRwi27YHH8eV

C. All are covalent hydrides

D. LiH is ionic, M gH, and CuH are intermediate hydrides.

Answer: D

o Watch Video Solution

17. Consider the following reactions

.LAIHy + H  — AlH4_

||H20—|—H_ %HQ‘*‘OH_

Select the correct statement based on these reactions.
A. H ~ is alewis acid in | and lewis base in Il
B. H ~ is alewis base in | and brosted base in Il

C. H " is alewis acid in | and brosted acid in Il

D. H ~ is alewis base in |l and Il


https://dl.doubtnut.com/l/_xRwi27YHH8eV
https://dl.doubtnut.com/l/_ora1jBHvzHp7

Answer: B

° Watch Video Solution

18. Which among the following is interstitial hydride?

A. SCH2

B. LCLH2

C.TiH,,

D. All of these

Answer: D

o Watch Video Solution

19. Heavy water is


https://dl.doubtnut.com/l/_ora1jBHvzHp7
https://dl.doubtnut.com/l/_zIvj1V6XegWX
https://dl.doubtnut.com/l/_cUVDhPCCttYl

A. (A) H,O with dissolved Mg(HCO3),
B.(B) D,O
C. (C) D50 with heavy metal impurities

D. (D) H,O with CaCO3

Answer: B

° Watch Video Solution

Assignment Section C

1. Which compound/s is/are saline hydride?

A. (A) CCLH2

B.(B) HCI


https://dl.doubtnut.com/l/_cUVDhPCCttYl
https://dl.doubtnut.com/l/_X7HTLR9wLK77

C. (C) SCH2

D. (D) SrH,

Answer: A::D

o Watch Video Solution

2. Which compound/s is/are metallic hydrides?

A. KH

B.VH

C. PH,

D. T3 H,

Answer: B::D

o Watch Video Solution



https://dl.doubtnut.com/l/_X7HTLR9wLK77
https://dl.doubtnut.com/l/_p1arhhJ1KCza

3. Which compound/s is/are covalent hydrides?

A.CH,

B.CsH

C.HCI

D. NaH

Answer: A::C

° Watch Video Solution

4. Examples of polymeric hydrides are

A BH,

B. B€H2


https://dl.doubtnut.com/l/_p1arhhJ1KCza
https://dl.doubtnut.com/l/_DM8w2NmScmj5
https://dl.doubtnut.com/l/_IeO5XwJBkScr

C. NaH

D. CGHQ

Answer: A::B

° Watch Video Solution

5. Which group elementof d-block do not form hydride at all?

Answer: A::B::C

o Watch Video Solution



https://dl.doubtnut.com/l/_IeO5XwJBkScr
https://dl.doubtnut.com/l/_xFfXCCQbn27P

6. Which reaction shows oxidising nature of HyO5?

A. AgQO + H202 — Ag + HQO + 02

B. MnOy + HyOy + Hy SOy — MnSO4 + 2H50 + O,

C. PbS + 4H,0y — PbSO, + 4H,0

K20T207 + H2SO4 + 4H202 — K2SO4 + 207‘05 + 5H20

Answer: C

° Watch Video Solution

7. H202 is

A. Lighter than water


https://dl.doubtnut.com/l/_xFfXCCQbn27P
https://dl.doubtnut.com/l/_p9e2BFbmWtnP
https://dl.doubtnut.com/l/_pagWLilyepUg

B. Denser than water

C. More viscous than water

D. Less viscous than water

Answer: B::C

° Watch Video Solution

8. Radio-activity can be detected in hydrogn due to the

presence of


https://dl.doubtnut.com/l/_pagWLilyepUg
https://dl.doubtnut.com/l/_2HSJfTOZrL1K

Answer: C

° Watch Video Solution

9. The soaps contain salts of higher fatty acids like

A. Stearic acid

B. oxalic acid

C. Palmitic acid

D. Oleic acid

Answer: A::C::D

o Watch Video Solution



https://dl.doubtnut.com/l/_2HSJfTOZrL1K
https://dl.doubtnut.com/l/_lpSaT9VcVBVy

10. Chemical additive which can be used to remove water

hardness is

A. Nay[Na,(POs),]
B.Ca(OH),
C. NCL2CO3 . 10H20

D.CaCOs

Answer: A::B::C

° Watch Video Solution

1. Ca(OH), removes temporary hardness by forming

A.(A) CaCl,

B. (B) C(ZSO4


https://dl.doubtnut.com/l/_JDXP0FZYJu1O
https://dl.doubtnut.com/l/_VkQHW0Lhu1OB

C.(C) CaCO;

D. (D) MgCO;

Answer: C::D

° Watch Video Solution

12.In ortho H, the correct statement/s is/are

A. (A) The two nuclei have same spin
B. (B) The two nuclei have oppsite spin
C. (C) The two electrons have same spin

D. (D) The two electrons have opposite spin

Answer: A::D

° Watch Video Solution



https://dl.doubtnut.com/l/_VkQHW0Lhu1OB
https://dl.doubtnut.com/l/_AXSdPP5SQIbl

13. Consider the following reversible conversion:
Ortho(H,) < Para (H,)
this equilibrium will shift in forward direction
A.On increasing temperature
B. On increasing ortho concentration

C. On decreasing temperature

D. On decreasing ortho concentration

Answer: B::C

o Watch Video Solution

14. H,O, can act as


https://dl.doubtnut.com/l/_AXSdPP5SQIbl
https://dl.doubtnut.com/l/_vYs6cmzl5Awu
https://dl.doubtnut.com/l/_yNTCjA8wNLnG

A. oxidising agent

B. Reducing agent

C. Bleaching agent

D. Acid

Answer: A::B::C::D

o Watch Video Solution

15. Correct among the following is/are

A. Ortho hydrogen is thermodynamically more stable
B. Parahydrogen is kinetically more stable
C. At room temperature para hydrogn is major component

D. Ortho and para hydrogens always present in 50:50 ratio


https://dl.doubtnut.com/l/_yNTCjA8wNLnG
https://dl.doubtnut.com/l/_Aly6hggUdSro

Answer: A::B

° Watch Video Solution

Assignment Section D

1. Heavy water is the oxide of heavy hydrogen (deuterium) and is
also called deuterium oxide. It is represented as D,O. Heavy
water is chemically similar to ordinary water heavy water is used
for the neutron moderatory, as a trracer compound and for the
preparation of deuterium. Reaction of heavy water with alkali
metals liberates heavy hydrogen. heavy water can also be used
for exchanging labile hydrogen with deuterium completely or
partially. heavy water reacts slower than ordinary water but

forms stronger bonds with other elements as compared to


https://dl.doubtnut.com/l/_Aly6hggUdSro
https://dl.doubtnut.com/l/_WztwZsEIGbff

hydrogen.

Q. The products of the reaction Al,C5 + DO — s

A.DC =CD
B.CD,
C. Al(OD)3

D.Both 2 and 3

Answer: D

o Watch Video Solution

2. Heavy water is the oxide of heavy hydrogen (deuterium) and
is also called deuterium oxide. It is represented as D,0. Heavy
water is chemically similar to ordinary water heavy water is used

for the neutron moderatory, as a trracer compound and for the


https://dl.doubtnut.com/l/_WztwZsEIGbff
https://dl.doubtnut.com/l/_44H4iAFU8k42

preparation of deuterium. Reaction of heavy water with alkali
metals liberates heavy hydrogen. heavy water can also be used
for exchanging labile hydrogen with deuterium completely or
partially. heavy water reacts slower than ordinary water but
forms stronger bonds with other elements as compared to
hydrogen.

Q. Reaction of Ny,Oy and DO produces

A. DNOs

B. DNO,

C.NO

D. NO,

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_44H4iAFU8k42
https://dl.doubtnut.com/l/_xJKIiC6iKBM7

3. Heavy water is the oxide of heavy hydrogen (deuterium) and
is also called deuterium oxide. It is represented as D,0. Heavy
water is chemically similar to ordinary water heavy water is used
for the neutron moderatory, as a trracer compound and for the
preparation of deuterium. Reaction of heavy water with alkali
metals liberates heavy hydrogen. heavy water can also be used
for exchanging labile hydrogen with deuterium completely or
partially. heavy water reacts slower than ordinary water but
forms stronger bonds with other elements as compared to
hydrogen.

Q. Which property of heavy water is lesser in magnitude as that

compared with normal water?

A. Molecular mass

B. Density

C. Boiling point


https://dl.doubtnut.com/l/_xJKIiC6iKBM7

D. lonisation constant

Answer: D

° Watch Video Solution

4. Size of neucleus increases from protium to tritium so in
H,, Dy&T, area off overlapping also increases in the same
order.
Q. Which overlapping is responsible for bond formation in
H,, Dy, T, respectively?

A. 1s-1s in each

B. 2s-2s in each

C.1s-2s in each

D. 1s-2s | T5, 1s-1s in rest


https://dl.doubtnut.com/l/_xJKIiC6iKBM7
https://dl.doubtnut.com/l/_NHSdaX2yBTAD

Answer: A

° Watch Video Solution

5. Size of neucleus increases from protium to tritium so in
H,, Dy&T, area off overlapping also increases in the same
order.
Q. Hy, D5&T, show their bond-enthalpies as

A Hy =Dy =T,

B.Hy > Dy > T

CHy <Dy <T

D.Dy < Hy < T

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_NHSdaX2yBTAD
https://dl.doubtnut.com/l/_TGKGNkjKE1Yo

Assignment Section E

1. By passing H5 S gas in acidified K MnQO, solution, we get

A. Statement-1 is true, statement-2 is true, statement-2 is a

correct explanation for statement-1

B. Statement-1is true, statement-2 is true, statement-2 is not

correct explanation for statement-1

C. Statement-1 is true, statement-2 is false

D. Statement-1 is false, statement-2 is true

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_TGKGNkjKE1Yo
https://dl.doubtnut.com/l/_zubSg5szXs79
https://dl.doubtnut.com/l/_Jwj9LYijLxdy

2. Statement-1: The O — O bond length in HyO, is longer than

that of O2F2.

Statement-2: H,O, is a polar covalent molcule.

A. Statement-1 is true, statement-2 is true, statement-2 is a

correct explanation for statement-1

B. Statement-1is true, statement-2 is true, statement-2 is not

correct explanation for statement-1

C. Statement-1 is true, statement-2 is false

D. Statement-1 is false, statement-2 is true

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_Jwj9LYijLxdy

3. Statement-1: Complete hydrolysis of one mole of
peroxydisulphuric acid gives one mole of HyO; and moles of
H,S0;.
Statement-2: Peroxydisulphuric acid has one peroxy linkage.
A. Statement-1 is true, statement-2 is true, statement-2 is a
correct explanation for statement-1
B. Statement-1 is true, statement-2 is true, statement-2 is not
correct explanation for statement-1

C. Statement-1is true, statement-2 is false

D. Statement-1 is false, statement-2 is true

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_5wc6lGdoYnpx
https://dl.doubtnut.com/l/_D2a8GfbJUCqK

4. Statement-1: Zinc hydroxide dissolves in excess of NaOH

solution to evolve dihydrogen gas.

Statement-2: Zinc hydroxide is amphoteric in nature.

A. Statement-1 is true, statement-2 is true, statement-2 is a

correct explanation for statement-1

B. Statement-1is true, statement-2 is true, statement-2 is not

correct explanation for statement-1

C. Statement-1is true, statement-2 is false

D. Statement-1 is false, statement-2 is true

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_D2a8GfbJUCqK

5.Name the gas in the following :

The gas evolved on reaction of Aluminium with boiling

concentrated caustic alkali solution.

A. Statement-1 is true, statement-2 is true, statement-2 is a

correct explanation for statement-1

B. Statement-1is true, statement-2 is true, statement-2 is not

correct explanation for statement-1

C. Statement-1 is true, statement-2 is false

D. Statement-1 is false, statement-2 is true

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_CGrV8Qb4fGjk

6. Statement-1: With non-metals covalent hydrides are formed.

Statement-2: For covalent hydrides electronegativity difference

should be less.

A. Statement-1 is true, statement-2 is true, statement-2 is a

correct explanation for statement-1

B. Statement-1 is true, statement-2 is true, statement-2 is not

correct explanation for statement-1

C. Statement-1is true, statement-2 is false

D. Statement-1 is false, statement-2 is true

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_50qj1AgphRdL

7. Statement-1: Valence factor of H,O, is always 2.

Statement-2: In redox reaction change of oxidation state per

molecule is 2.

A. Statement-1 is true, statement-2 is true, statement-2 is a

correct explanation for statement-1

B. Statement-1 is true, statement-2 is true, statement-2 is not

correct explanation for statement-1

C. Statement-1is true, statement-2 is false

D. Statement-1 is false, statement-2 is true

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_UdY3k85ib699

Assignment Section F

1. Match the following

Column-I
(A) lonic hydride
(B) Covalent hydride .
(C) Interstitial hydride -
- (D) Intermediate hydride

Column-il

’ ’(p) Salt like structure

" (q) Polymeric structure

(r) Stoichiometric

(s) Non-stoichiometric

o Watch Video Solution

2. Consider the

6NaOH + 3Cly — 5NaCl + A + 3H>O0.

following reaction:

What is the oxidation number of chlorine in A?

o Watch Video Solution



https://dl.doubtnut.com/l/_dxoBDZXAZ2Oh
https://dl.doubtnut.com/l/_ZoKMyKwQdq91

3. Match the following

Column-I © Column-it
(A) H° (p) Cation of hydrogen
(B) H (q) Free radical
(C) H, (1) Hydrogen
D) H (s) Anion of hydrogen

() Proton”

o Watch Video Solution

Assignment Section G

1.In liquid water, the number of H20O molecules surrounded to

one H>0 molecule are

o Watch Video Solution

2. When H303 is decomposed to Oz gas, it Nfactor IS .

e



https://dl.doubtnut.com/l/_BVAidCIaKPUX
https://dl.doubtnut.com/l/_xge1d8j5kLvM
https://dl.doubtnut.com/l/_lsMidgteinxz

| ¥ VWatch Video >Solution

Assignment Section H

1. Statement-1: H2O3 is more polar than H2O
Statement-2: D20 has higher boiling point than H2O
Statement-3: Hs bond bond energy is less than Ds.
ATIT
B.TTF

C.TFF

D.FFT

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_lsMidgteinxz
https://dl.doubtnut.com/l/_qH2SfDLAwBxh
https://dl.doubtnut.com/l/_5uUc0F9D0NhA

2. Statement-1: Tritium is radioactive form of hydrogen.

statement-2: NaCl is more soluble in water as compared to D20

Statement-3: pH of water depends on temperature.

ATIT

B.TTF

C.TFF

D. FFF

Answer: A

° Watch Video Solution

3. Statement 1: Highest adsorption tendency of H is on Pt.

Statement-2: In Ha, protium is 99% by mass.


https://dl.doubtnut.com/l/_5uUc0F9D0NhA
https://dl.doubtnut.com/l/_IRFrItploDuF

statement 3: H,& O, react only under vigorous conditions

A TFT

B.FTT

C.TTF

D.FFT

Answer: A

° Watch Video Solution

Assignment Section |

1. How many grams of barium hydride must be treated with

water to obtain 4.36L of hydrogen at 20°C and 0.975 atm

pressure (Ba=137)?



https://dl.doubtnut.com/l/_IRFrItploDuF
https://dl.doubtnut.com/l/_w8EwCrPGfOMV

| ) Watch Video Solution

2. When a substance A reacts with water it produces a
combustible gas B and a solution of substance C in water. When
another substance D reacts with this solution of C, it also
produces the same gas B on warming but D can also produce
gas B on rection with dilute sulphuric acid at room with dilute
sulphuric acid at room temperature. A imparts a deep flameof
yellow colour to a smokeless flame of Bunesen burner. AB,C and

D, respectively are

° Watch Video Solution

3. An element X of group 2 reacts with H, gas at 200° C' to form
compound Y. when Y is heated to a higher temperature, it

decomposes to element X and H, gas in the ratio of 559 ml of


https://dl.doubtnut.com/l/_w8EwCrPGfOMV
https://dl.doubtnut.com/l/_IERCcVnrBknR
https://dl.doubtnut.com/l/_VA01KPP1QTsM

H, (measured at STP) for 1.00 g of X reacted. X also combines
with Cl; to form a compound Z which contains 63.89 peerrcent

mass of chlorine. identify X, Y and Z.

° Watch Video Solution

4. Can H,0, act both as an oxidising and a reducing agent?

° Watch Video Solution

5. Give reasons in one or two sentences for the following: The
mixture of hydrazine and hydrogen peroxides with a copper

(II) catalyst is used as a rocket propellant.

° Watch Video Solution



https://dl.doubtnut.com/l/_VA01KPP1QTsM
https://dl.doubtnut.com/l/_FgYSReMuyyRY
https://dl.doubtnut.com/l/_AgOHZMy8xrGo

6. When 25 " mL of " an aqueous solution of Hy0, is titrated
with an excess of Kl solution in dilute H5SOy, the liberated I,
required 20 " mL of " 0.3 NNayS,03 solution for complete

reaction.volume strength of H,O5 solution.

° Watch Video Solution

7.1 mega litre water (density 1g/cc) needs 106 kg of Na,CO5 for
removal of its permanent hardness. Determine its hardness in

the multiples of 20 ppm.

o Watch Video Solution

Assignment Section J



https://dl.doubtnut.com/l/_6ySfdV7o4srb
https://dl.doubtnut.com/l/_KbGcitbjmrdN

1. Order of bond length can be given as

A.H2 :D2 :T2

B.Hy < Dy < Ty

C.Hy > Dy > Ty

D.Dy, < Hy < T

Answer: C

o Watch Video Solution

2. Incorrect among the following

A.H " exist in water as H " (H,0),

B. H ™ exist in wateras H ™ (H,0),


https://dl.doubtnut.com/l/_dUPkaw9NpbGR
https://dl.doubtnut.com/l/_Pz33L7X5t9FE

C. Ahde(®H+) = Ahde(GH_ ) (hyd = hydration)

D. H exist in water as H. (H,0),,

Answer: C::D

° Watch Video Solution

3. Not incorrect among the following

A. Ny& H, are two non-reacting gases

B. O3& H, are two non-reacting gases

C. Ny& D, are reactive towards each other

D. D5& 0, are non-reactive to each other

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_Pz33L7X5t9FE
https://dl.doubtnut.com/l/_96sHPHyZRrd0

4. For which AfH(9 is zero?

D.(d) H " (aq)

Answer: D

° Watch Video Solution

5. Correct regarding bond-strength is

AC—-H>C-D>C-T

BC-H<(C-D<C-T


https://dl.doubtnut.com/l/_96sHPHyZRrd0
https://dl.doubtnut.com/l/_AsRugay4BfhE
https://dl.doubtnut.com/l/_7VtK7ZqJQh09

cC-T<C-D=C—-H

DC—-D>C-H=C-T

Answer: B

° Watch Video Solution

1. Discuss the resemblance of hydrogen with halogens.

° Watch Video Solution

2. Which isotope of hydrogen is radioactive in nature?

o Watch Video Solution



https://dl.doubtnut.com/l/_7VtK7ZqJQh09
https://dl.doubtnut.com/l/_RCDvHB1UeX2z
https://dl.doubtnut.com/l/_6f6ihTHVx5uG

3. Which isotope of hydrogen contains equal number of

protons and neutrons?

o Watch Video Solution

4.Comment on the reaction of dihydrogen with fluorine.

° Watch Video Solution

5. Explain the use of hydrogen in the formation of vegetable

fats.

o Watch Video Solution



https://dl.doubtnut.com/l/_9YSrOhp2HWII
https://dl.doubtnut.com/l/_wusl65aUxCYw
https://dl.doubtnut.com/l/_PeViREsw9VxS

6. Which class of covalent hydrides are considered as lewis

acids?

o Watch Video Solution

7. Association of molecules in water is due to:

° Watch Video Solution

8. Describe the nature of ionic hydrides.

° Watch Video Solution

9. Why do alcohol (a covalent compound) dissolves in water

(ionic)?


https://dl.doubtnut.com/l/_mSZ5RfIZeG30
https://dl.doubtnut.com/l/_sAiKIVWMju5t
https://dl.doubtnut.com/l/_1YzcuxjTQv74
https://dl.doubtnut.com/l/_XkZR5H9l1i6R

o Watch Video Solution

10. Which properties of hydrogen as responsible for moderation

of the climate and body temperature of living beings?

o Watch Video Solution

11. Compare the density of ice and water.

° Watch Video Solution

12. Does water gets oxidised in the process of photosynthesis?

o Watch Video Solution



https://dl.doubtnut.com/l/_XkZR5H9l1i6R
https://dl.doubtnut.com/l/_90Iy8IZPwT1x
https://dl.doubtnut.com/l/_tkNuTUJ6q6TZ
https://dl.doubtnut.com/l/_6YwG9uStg7Jn

13. What type of water forms scum with soap?

o Watch Video Solution

14. Write the reaction that takes place on adding lime to water

containing magnesium bicarbonate.

° Watch Video Solution

15. Explain with the help of reactions that how heavy water is

used in the preparation of deuterium compounds?

o Watch Video Solution

16. What is calgon?


https://dl.doubtnut.com/l/_DBUEXerAgQup
https://dl.doubtnut.com/l/_FArbhjoWYgnt
https://dl.doubtnut.com/l/_b0U7F1a1tKmC
https://dl.doubtnut.com/l/_p3XMr7kV9Gda

o Watch Video Solution

17. Calculate the strength of 30 volume solution of hydrogen

peroxide.

o Watch Video Solution

18. What is the percentage strength of a solution of 100 volume

H,0,?

o Watch Video Solution

19.Why H50, is kept away from dust?

° Watch Video Solution



https://dl.doubtnut.com/l/_p3XMr7kV9Gda
https://dl.doubtnut.com/l/_uKGXwzCSuvfN
https://dl.doubtnut.com/l/_IEpCVzMWcvl5
https://dl.doubtnut.com/l/_5S4GqVy2zbOo
https://dl.doubtnut.com/l/_QU77u4K6aSOU

In the above reaction, HyO, acts as a/an_____agent.

° Watch Video Solution

1. What is the half life period of tritium ?

A.13.33 year
B.12.33 year
C.12 years

D. 22.33 years

Answer: B



https://dl.doubtnut.com/l/_QU77u4K6aSOU
https://dl.doubtnut.com/l/_Qts7gdYgT6FF

[ W Watch Video Solution

2.Zn+2NaOH — A+ B

A.NaH and H,

B. NCLQZ’I’L and H2

C. NasZn0O, and H,

D. Reaction arely occurs

Answer: C

o Watch Video Solution

3. Which element from electron rich hydride ?

AC


https://dl.doubtnut.com/l/_Qts7gdYgT6FF
https://dl.doubtnut.com/l/_S2q7QNtGLr2D
https://dl.doubtnut.com/l/_BLijqTN0ibzK

B.O

C.B

D. Al

Answer: B

° Watch Video Solution

4.The formula of Calgon is :

A Na6P6018

B. Na5P5018

C. Na4P4018

D. NCLQMP6018

Answer: A


https://dl.doubtnut.com/l/_BLijqTN0ibzK
https://dl.doubtnut.com/l/_6jwi7ftYm3iz

° Watch Video Solution

5. What is the amount of O, liberated at STP by "30 volume" 1L

solution of HyO5?

A15L

B.25L

C.30L

D.3L

Answer: C

o Watch Video Solution

6. Among the following which islare interstitial hydride ?


https://dl.doubtnut.com/l/_6jwi7ftYm3iz
https://dl.doubtnut.com/l/_FbQCLRR1YYcf
https://dl.doubtnut.com/l/_Ok1NhdbZuWmo

A. LG,H3

B. CaH2

C. NaH

D. HF

Answer: A

° Watch Video Solution

7. Among the following in which hydrates H,O molecules only

occupy the interstitial site

A. BaCly2H,0
8. [[Ni(E,0),)" | (NOy ),

C. C’U,SO45H20


https://dl.doubtnut.com/l/_Ok1NhdbZuWmo
https://dl.doubtnut.com/l/_qQ9cVAT2PNJo

D. All of these

Answer: A

° Watch Video Solution

8. In which of the following property hydrogen does not

resemble with halogen:

A. Hydrogen has strong affinity for non-metals

B. Hydrogen has high ionisation potential

C. Hydrogen has low value of electron affinity

D. Hydrogen acts as reducing agent

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_qQ9cVAT2PNJo
https://dl.doubtnut.com/l/_xLWHIIdwT3F1

9. Which of the following is electron precise hydride ?

A BH,

B.CHy

C.H,O

D. HF

Answer: B

o Watch Video Solution

10. Deminerakised H,O is obtained when

A. Water is passed through R — SO;3H resin

+ 0
B. Water is passed through R — NH30H resin


https://dl.doubtnut.com/l/_xLWHIIdwT3F1
https://dl.doubtnut.com/l/_8dfVDSomij8d
https://dl.doubtnut.com/l/_8aix1MBk4ljl

C.Water is passed through both RSOs;H resin and
< 0
R NH;0H resin

D. We can't get demineralised H5O artificially by resins

Answer: C

o Watch Video Solution

Assignment Section A Objective Type Question

1. The ionisation energy of hydrogen is high as compared to

alkali metals because of

A. One electron in outemost shell

B. Small size

C. One proton in its nucleus


https://dl.doubtnut.com/l/_8aix1MBk4ljl
https://dl.doubtnut.com/l/_ZWQtSigGMORc

D. No neutron

Answer: B

° Watch Video Solution

2. Which of the following is the correct statement ?

A. Hydrogen has the same I.E. as that of alkali metals

B. Hydrogen has strong tendency to gain one electron same

as that of alkali metals

C. Hydrogen molecules is diatomic so are the halogens

D. Electron affinity of hydrogen is same as that of halogens

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_ZWQtSigGMORc
https://dl.doubtnut.com/l/_Sx1opYUUXJUx

3.The isotope of hydrogen which is radioactive is

A. Protium

B. Tritum

C. Deuterium

D. Neutron

Answer: B

° Watch Video Solution

4. Hydrogen accepts an electron to

configuration. In this it resembles

A. Halogens

form

inert gas


https://dl.doubtnut.com/l/_Sx1opYUUXJUx
https://dl.doubtnut.com/l/_a7Xb7BqIHrXa
https://dl.doubtnut.com/l/_nZMgEWqDijyJ

B. Alkali metals

C. Transition metals

D. Chalcogens

Answer: A

° Watch Video Solution

5. Hydrogen acts as a reducing agent and thus resembles

A. Halogens

B. Noble gas

C. Radioactive elements

D. Alkali metals

Answer: D


https://dl.doubtnut.com/l/_nZMgEWqDijyJ
https://dl.doubtnut.com/l/_54ZIiwLIgAoM

° Watch Video Solution

6. Which position for hydrogen explain all its properties ?

A. At the top of halogens

B. At the top of alkali metals

C. At the top of chalcogens

D. Both (1) & (2)

Answer: D

° Watch Video Solution

7.lonisation energy of hydrogen is

A. Fqual to that of fluorine


https://dl.doubtnut.com/l/_54ZIiwLIgAoM
https://dl.doubtnut.com/l/_yYxbWtyHs5ue
https://dl.doubtnut.com/l/_ZbYjEzF6josJ

B. Lower thean that of flluorine

C.Slightly highher than that of fluorine

D. Much highher than that of fluorine

Answer: B

° Watch Video Solution

8. Which of the following statements concerning protium,

deuterium and tritium is not true ?

A. They are isotopes of each other

B. They have similar electronic configurations

C. They exist in the nature in the ratio of 1: 2: 3 respectively

D. Their mass numbers are in the ratio 1: 2 : 3 respectively


https://dl.doubtnut.com/l/_ZbYjEzF6josJ
https://dl.doubtnut.com/l/_8qY1QmquDrXa

Answer: C

° Watch Video Solution

9. Number of nucleons in D5 molecule is

Al

B.2

C.3

D.4

Answer: D

o Watch Video Solution

10. Water gas is


https://dl.doubtnut.com/l/_8qY1QmquDrXa
https://dl.doubtnut.com/l/_ImNSsVCAjgl2
https://dl.doubtnut.com/l/_5FF0irNTFCDM

A.CO + H,

B.CO, + H,

C.CO + Hy,O

D.CO5 + N,

Answer: A

° Watch Video Solution

11. The catalyst used in the water-gas shift reaction is

A. Sodium arsenite

B. Nickel

C. Potassium permanganate

D. Iron chromate


https://dl.doubtnut.com/l/_5FF0irNTFCDM
https://dl.doubtnut.com/l/_7GjgGoelxadG

Answer: D

° Watch Video Solution

12. The reaction between which of the following reactants

produces hydrogen?

A.Zn + HCI

B. BaO, + HCl

C. K3,5,05 + Hy,O

D. Na202 + HCI

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_7GjgGoelxadG
https://dl.doubtnut.com/l/_9kyu3oqW5GSN

13. High purity dihydrogen is obtained by electrolysing

A. Warm aqueous barium hydroxide

B. Brine solution
C. Acidified sulphate solution

D. Water gas

Answer: A

o Watch Video Solution

14. Hydrogen is not obtained when sodium reacts with

A. Cold water

B. Dilute H,50,


https://dl.doubtnut.com/l/_rbZFxjMU6K7C
https://dl.doubtnut.com/l/_ZNd2tbw2uY53

C. Molten NacCl

D. Dilute HCI

Answer: C

° Watch Video Solution

15. The process by which ammonia is formed from nitrogen and

hydrogen is

A. Contact process

B. Haber process

C. Ostwald process

D. Hydrogenation process

Answer: B



https://dl.doubtnut.com/l/_ZNd2tbw2uY53
https://dl.doubtnut.com/l/_Aep8ZC4FPhW5

| ° Watch Video Solution

16. Hydrogenation of alkenes yields

A. Alkanes
B. Alkynes
C. Aldehydes

D. Carboxylic acids

Answer: A

° Watch Video Solution

17. lonic hydrides are usually

A. Good conductors of electricity in solid state


https://dl.doubtnut.com/l/_Aep8ZC4FPhW5
https://dl.doubtnut.com/l/_uw8oPT8ZFi18
https://dl.doubtnut.com/l/_pXttZofT1Zxr

B. Stoichiometric compounds

C. Volatile

D. Non-crystalline

Answer: B

° Watch Video Solution

18. Group 2 hydrides with significant covalent character is/are

A. B€H2

C. CCLHQ

D. Both (1) & (2)

Answer: D


https://dl.doubtnut.com/l/_pXttZofT1Zxr
https://dl.doubtnut.com/l/_f0lIB18aRQSn

° Watch Video Solution

19. In which of the compounds does hydrogen have an oxidation

state of -17?

A.CH,

B. NH,

C. HCI

D. CCLHQ

Answer: D

o Watch Video Solution

20.The H — O — H angle in water molecule is about


https://dl.doubtnut.com/l/_f0lIB18aRQSn
https://dl.doubtnut.com/l/_BS0Wv2mMcUlJ
https://dl.doubtnut.com/l/_2fkA3SaKMI68

A.90°

B.180°

C.109°28

D. 104.52

Answer: D

° Watch Video Solution

21. Hardness of water cannot be removed by

A. Treating with washing soda
B. Boiling
C. Adding calgon

D. Addition of chlorine


https://dl.doubtnut.com/l/_2fkA3SaKMI68
https://dl.doubtnut.com/l/_I4oOIsz4afyI

Answer: D

° Watch Video Solution

22. Temporary hardness may be removed from water adding.

A. CaCOg
B.Ca(OH),
C.CaSOy

D. HCI

Answer: B

° Watch Video Solution

23. Permanent hardness of water is due to the presence of


https://dl.doubtnut.com/l/_I4oOIsz4afyI
https://dl.doubtnut.com/l/_OhDILBkkoVsl
https://dl.doubtnut.com/l/_iLCSSunc4ney

A. Sulphates of Mg and Ca

B. Bicarbonates of mg and Ca

C.Sulphates of Na and K

D. Bicarbonates of Na and K

Answer: A

o Watch Video Solution

24. Permanenet hardcore of water is removed by aciding

A. Sodium bicarbonate

B. Washing soda

C. Calcium hydroxide


https://dl.doubtnut.com/l/_iLCSSunc4ney
https://dl.doubtnut.com/l/_RcHHWWcij2q7

Answer: C

° Watch Video Solution

25. Pemunt is chemically.

A. Hydrated sodium aluminium silcate

B. Sodium hexaphosphate

C. Sodium bicarbonate

D. Calcium hydroxide

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_RcHHWWcij2q7
https://dl.doubtnut.com/l/_LcNFS1PyC6ux

26. In Clark's process for removing hardness of water, the

reagent used is

A. Acidic

B. Basic

C. Neutral

D. Both (1) & (2)

Answer: B

° Watch Video Solution

27.The structure of H,0, is

A. Open book like

B. Closed book like


https://dl.doubtnut.com/l/_oA5t2n4EOifW
https://dl.doubtnut.com/l/_p5Ar30ADuVKl

C. Pyramidal

D. Linear

Answer: A

° Watch Video Solution

28.The dihedral angle of H5O, in solid phase is

A 111.5°

B.90.2°

C.94.8°

D.101.9°

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_p5Ar30ADuVKl
https://dl.doubtnut.com/l/_OrZF93yKuv4N

29. The volume of O, liberated from 0.96g of HyO, is

A.224.6 mL

B.316.2 mL

C.390.0 mL

D. 1125 mL

Answer: B

o Watch Video Solution

Assignment Section B Objective Type Question

1. H,O, can act as


https://dl.doubtnut.com/l/_OrZF93yKuv4N
https://dl.doubtnut.com/l/_vX2hHjgzYtT6
https://dl.doubtnut.com/l/_UpUvuqIL17td

A. Oxidising agent

B. Reducing agent

C. Bleaching agent

D. All of these

Answer: D

° Watch Video Solution

2. Hydrogen can be prepared by

A. Electrolysis of acidified water

B. Bosch's process

C. Lane's process

D. All of these


https://dl.doubtnut.com/l/_UpUvuqIL17td
https://dl.doubtnut.com/l/_lgeoWwgzGKpm

Answer: D

° Watch Video Solution

3. Commercial hydrogen is obtained from

A. Coal gas

B. Water gas

C. Air

D. Producer gas

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_lgeoWwgzGKpm
https://dl.doubtnut.com/l/_w3N69lvF7PvD

4. Which is a sources of nascent hydrogen?
(i) Zn + dil HCI
(iii) Electrolysis of HyO
(iv) Silent electric discharge of HyO,
A l1&Il
B. 11 &l

C. 1,1, 1

D. IV

Answer: A

° Watch Video Solution

5. Electrolysis of 50% H5SO, gives


https://dl.doubtnut.com/l/_abj6muViatFj
https://dl.doubtnut.com/l/_HXMCFKbi0qkv

A.H,0

B. D,O

C. H,O,

D. H,

Answer: C

o Watch Video Solution

6. Lane's process is for the preparetion of

A H,

B. H,O

C. H202

D. D;O


https://dl.doubtnut.com/l/_HXMCFKbi0qkv
https://dl.doubtnut.com/l/_yxs6Q6l58Jah

Answer: A

° Watch Video Solution

7.1n water gas shift reaction reactant is

A H, + H,O

B. Hy + COy

D. Hy + D,

Answer: C

° Watch Video Solution

8.1n Ortho and Para hydrogen, the nuclear spin respectively are


https://dl.doubtnut.com/l/_yxs6Q6l58Jah
https://dl.doubtnut.com/l/_B82LSoiWFInC
https://dl.doubtnut.com/l/_juYTCGY7BbMD

A. Parallel and opposite

B. Opposite and parallel

C. It may be parallel or opposite

D. They do not differ in nuclear spin

Answer: A

° Watch Video Solution

9. When hydrolith is treated with water it yields

A H,

B. H,O,

C. NaH

D. N,


https://dl.doubtnut.com/l/_juYTCGY7BbMD
https://dl.doubtnut.com/l/_ccLg55EVJGat

Answer: A

° Watch Video Solution

10. Interstital hydrides are formed by

A. s-block metals

B. p-block metals

C. d-block metals

D. All of these

Answer: C

° Watch Video Solution

11. The group of elements responsible for hydride gap


https://dl.doubtnut.com/l/_ccLg55EVJGat
https://dl.doubtnut.com/l/_nGNPXIFYHqZ1
https://dl.doubtnut.com/l/_6HSLjaXT0DJz

A. Mn, Ca, Ni

B. Mn, Fe, Li

C. Mn, Fe, Co

D. Mn, Cu, Cl

Answer: C

o Watch Video Solution

12. Which of the following is interstitial hydride?

A CCLH2

B. CuH

C. PH,

D. NaH


https://dl.doubtnut.com/l/_6HSLjaXT0DJz
https://dl.doubtnut.com/l/_Dozw1GgkM7fP

Answer: B

° Watch Video Solution

13. Hydrogen exists in atomic state in which of the following

compounds?

A. Metallic hydrides

B. lonic hydride

C. Molecular hydrides

D. H,O

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_Dozw1GgkM7fP
https://dl.doubtnut.com/l/_nz6VioNi60FI

14. The velocity of neutrons in nuclear is slowed down by

A. Heavy water

B. Ordinary water

C.Zinc rod

D. Fused caustic soda

Answer: A

° Watch Video Solution

15. Heavy water has maximum density at

A4°C

B.11.6°C


https://dl.doubtnut.com/l/_rZyyJr5o7iZx
https://dl.doubtnut.com/l/_pwQzBEPh2JqT

c.o°C

D.273 K

Answer: B

° Watch Video Solution

16. Heavy water is

A. H,O

B. D,O

C.Water at4°C

D. Water obtained by repeated distillation

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_pwQzBEPh2JqT
https://dl.doubtnut.com/l/_souGSUVBsCd5

17. Which of the following will determine whether the given

colourless liquid is water or not ?

A.smelling

B. Tasting

C. Phenolphthalein

D. Adding a pinch of anhydrous CuSO,

Answer: D

o Watch Video Solution

18. Selecte the correct statement.

A. O-H bond is stronger than O-D bond


https://dl.doubtnut.com/l/_souGSUVBsCd5
https://dl.doubtnut.com/l/_zJyS29bESCDV
https://dl.doubtnut.com/l/_6Sf6H73czAUN

B. O-H bond is weaker than O-D bond
C. Permanent hardness of water is due to the presence of
bicarbonates of calcium and magnesium

D. O-H and O-D bond strenght is same

Answer: B

o Watch Video Solution

19. Heavy water is called as heavy because it is

A. A heavy liquid
B. An oxide of heavier isotope of oxygen
C. An oxide of deuterium

D. Less denser than HyO


https://dl.doubtnut.com/l/_6Sf6H73czAUN
https://dl.doubtnut.com/l/_NoOYTl8Co74W

Answer: C

° Watch Video Solution

20. Blue vitriol has

A. Coordinate bond

B. Covalent bond

C. Hydrogen bond

D. All of these

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_NoOYTl8Co74W
https://dl.doubtnut.com/l/_fHrN8XHn8JKC

21.Both cation and impurities can be removed from hard water

by using

A. Zeolites

B. Organic ion exchanges

C. Calgon

D. All of these

Answer: B

° Watch Video Solution

22. Which of the following is correct?

A. LiH is thermally more stable than CsH

1
B. Density of H, is about ﬂth of that of air


https://dl.doubtnut.com/l/_gaNeX60bt54I
https://dl.doubtnut.com/l/_VvMuslrQMpTM

C. Atomic hydrogen is much more reactive than ordinary

hydrogen

D. All of these

Answer: D

° Watch Video Solution

23. When the same amount of zinc is treated separately with
excess of sulphuric acid and excess of sodium hydroxide, the
ratio of volumes of hydrogen evolved is

(a)1:1

(b)1:2

(c)2:1

(d) 9:4


https://dl.doubtnut.com/l/_VvMuslrQMpTM
https://dl.doubtnut.com/l/_jQDtbv2Su4hU

Al:1

B.1:2

C.2:1

D.9:4

Answer: A

° Watch Video Solution

hv
24.CH3D + Cl, —— Product

(1 mole)

The product is

A.CH,DCl
B. CH,Cl

C.CDCl;


https://dl.doubtnut.com/l/_jQDtbv2Su4hU
https://dl.doubtnut.com/l/_fy9h1IaQkKAb

D.CCly

Answer: A

° Watch Video Solution

25. Hydrogen peroxide is used as

A. Oxidising agent only

B. Reducing agent only

C. Both as oxidising and reducing agent

D. Drying agent

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_fy9h1IaQkKAb
https://dl.doubtnut.com/l/_ax61fF79hJEx
https://dl.doubtnut.com/l/_8i6oC9hGZDj4

26. H,0O- is manufactured these days

A. By the action of H,O, on BaO

B. By the action of Hy,SO,4 on NasO

C. By electrolysis of 50% H5S50,

D. By burning hydrogen in excess of oxygen

Answer: C

o Watch Video Solution

27. Which of the following is most reactive ?

A H,

B. H (nascent)

C. D,


https://dl.doubtnut.com/l/_8i6oC9hGZDj4
https://dl.doubtnut.com/l/_SRNy8946j6Lm

D. H (atomic)

Answer: D

° Watch Video Solution

28. H,O, restores the colour of old lead paintings, blackened

by the action of H,S gas by::

A. Converting PbO, to Pb

B. Oxidising pbS to PbSO,

C. Converting PbCO5 to Pb

D. Oxidising PbSO3 — PbSOy,

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_SRNy8946j6Lm
https://dl.doubtnut.com/l/_4PyyvPIr6Olv

29. In the reaction
2K;|[Fe(CN)g] + 2KOH + H,O5 —
2K4[Fe(CN)g| + 2H0 + O,
H505 acts as
A. Reducing agent
B. Oxidising agent
C. Knocking agent

D. Bleaching agent

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_4PyyvPIr6Olv
https://dl.doubtnut.com/l/_X2PAQXSQyrOY

30. Decomposition of HyO5 can be slowed down by addittion of

smass amount phosphoric acid which act as

A. Stopper

B. Inhibitor

C. Detainer

D. Promotor

Answer: B

o Watch Video Solution

31. When 50% solution of H,S50, is electrolysed by passing a
current of high density at low temperature the main products

of electrolysis are:


https://dl.doubtnut.com/l/_LmUI9m3YhcFS
https://dl.doubtnut.com/l/_UOmdQzZ7T1Ur

A. Oxygen & Hydrogen

B. H, and peroxy disuphuric acid

C. Hz and SOg

D. O, and peroxy disulphuric acid

Answer: B

o Watch Video Solution

32. H202 — HQO + 02

This represents

A. Oxidetion of Hy0,

B. Reducton of H,0O»

C. Disproportionation of oxygen


https://dl.doubtnut.com/l/_UOmdQzZ7T1Ur
https://dl.doubtnut.com/l/_t1mgDD13cIHG

D. Acidic nature of H,0O,

Answer: C

° Watch Video Solution

33. 20 volume hydrogen peroxide means

A. 1 ml of HyO, solution gives 20 L of O, at NTP

B. 1 mole of H50O, solution gives 20 L of Oy at NTP

C.1g of Hy0O, give 20 ml of O, at NTP

D. 1 ml of HyO, solution give 20 ml of O, at NTP

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_t1mgDD13cIHG
https://dl.doubtnut.com/l/_Du7sTdC3ov6L
https://dl.doubtnut.com/l/_UtafRo3q73Sc

34.1 ml of HyO, solution given 10 ml of Oy at NTP. It is :

A. ].O’UOlH2 02

B. 20 vol H202

C.30 vol H202

D. 40 vol H202

Answer: A

o Watch Video Solution

35. Volume strength of H,0, labelled is 10vol. What is

normality of HyO5?

A 21

B.34


https://dl.doubtnut.com/l/_UtafRo3q73Sc
https://dl.doubtnut.com/l/_1abp7b5OQ2PP

C. 1.7

D. 5.1

Answer: C

° Watch Video Solution

36. The amount of HyO5 present in 1L of 1 - 5bNH,0, solution

is

A25g

B.255g

C.3.0

D. 8.0

Answer: B



https://dl.doubtnut.com/l/_1abp7b5OQ2PP
https://dl.doubtnut.com/l/_KvHqrkrHEoWw

| ° Watch Video Solution

37. H,O and H,0, resemble in

A. Hybridisation of oxygen

B. Oxidation state of oxygen

C. Structure

D.Bond angle

Answer: A

° Watch Video Solution

38.Bolling point of D50 is

A.100° C


https://dl.doubtnut.com/l/_KvHqrkrHEoWw
https://dl.doubtnut.com/l/_YXlT246szrLP
https://dl.doubtnut.com/l/_lrYBEGe2jkmq

B.105.5°C

C.101.4°C

D.102.6°C

Answer: C

° Watch Video Solution

Assignment Section C Previous Type Questions

1. Which of the following statements about hydrogen is

incorrect ?

A. Dithydrogen does not act as a reducing agent

B. Hydrogen has three isotopes of which tritium is the most

common


https://dl.doubtnut.com/l/_lrYBEGe2jkmq
https://dl.doubtnut.com/l/_FYXEP8bDpR2T

C. Hydrogen never acts as cation in ionic salts

D. Hydronium ion, H3;O ™ exists freely in solution

Answer: A::B

° Watch Video Solution

2. In acidic medium, H,O5 changes C’r203_ to CrOs which has
two (-0-O-) bonds. Oxidation state of Cr in CrQOxs is

A +5

B.+3

C.+6

D.—10

Answer: C



https://dl.doubtnut.com/l/_FYXEP8bDpR2T
https://dl.doubtnut.com/l/_OBMgE819oPBJ

| ° Watch Video Solution

3.The correct order of hydration enthalpies of alkali metal ions

is:

AK"™ <Na"™ <Rb" < Lit

B.Na’' < Lit < K' < Rb™

CLi" <K' <Na" < Rb"

D.Rb" < KT < Na™ < Li*

Answer: C

o Watch Video Solution

4. Some statements about water are given below:

(a) Heavy water is used as a moderator in nuclear reactors


https://dl.doubtnut.com/l/_OBMgE819oPBJ
https://dl.doubtnut.com/l/_oIRtMMhmeE8I
https://dl.doubtnut.com/l/_gvE6AnPXLGh7

(b) Heavy water is more associated than ordinary water

(c) Heavy water is more effective solvent than ordinary water.

Which of the above statements are correct ?

A.aand b

B.a,bandc

C.bandc

D.aandc

Answer: A

o Watch Video Solution

5.Hydrogen is prepared from H5O by adding

A. Ca, which acts as reducing agent


https://dl.doubtnut.com/l/_gvE6AnPXLGh7
https://dl.doubtnut.com/l/_FWLc3CkI8Wat

B. Al. which acts as oxidising agent

C. Ag. Which acts as reducing agent

D. Au. Which acts as oxidising agent

Answer: A

° Watch Video Solution

6. The hydride ion H ™ is a stronger base than its hydroxide ion
OH ~ . Which of the following reactions will occurs if sodium
hydride (NaH) is dissolved in water ?

A.H ™~ + Hy0 — No rection

B.H  (aq) + H,O — H,0

C.H (aq) + H,O(l) - OH ™~ + H,

D. None of these


https://dl.doubtnut.com/l/_FWLc3CkI8Wat
https://dl.doubtnut.com/l/_LGIqcundyISR

Answer: C

° Watch Video Solution

7. Which of the following statements about the interstitial

compounds is incorrect?

A. They are chemically reactive

B. They are much harder than the pure metal

C. They have higher meting points than the pure metal

D. They retain metallic conductivity

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_LGIqcundyISR
https://dl.doubtnut.com/l/_76DDyJ74qYbs

8. The volume strength of 1 - 5 N Hy,O5 solution is

A. 8.8

B. 8.4

C.48

D.5.2

Answer: B

° Watch Video Solution

9. Which one of the following pairs of substances on reaction

will not evolve Hy gas ?

A. Coppar and HCl (aqueous)

B. Iron and steam


https://dl.doubtnut.com/l/_UcXIEVgJwYsr
https://dl.doubtnut.com/l/_uUCyl9VYjWnk

C.Iron and H,50, (aqueous)

D. Sodium and ethyl alcohol

Answer: A

o Watch Video Solution

10. Zn gives hydrogen with H550, and HCl but not with HNO5

because

A. Zn act as oxidizing agent when react with HNO;
B. HNQOs is weaker acid than H,50, and HCI
C. In electrochemical series Zn is above hydrogen

D. N()g is reduced in preference to hydronium ion

Answer: D



https://dl.doubtnut.com/l/_uUCyl9VYjWnk
https://dl.doubtnut.com/l/_d18eaj1cwWhK

| ° Watch Video Solution

11. The pair that yields the same gaseous product on reaction

with water :

A.Kand KO,

B.Ba and BaO-

C.Caand CaH,

D.Na and Na-,0,

Answer: C

o Watch Video Solution

12. Ortho and para-hydrogen differ in the


https://dl.doubtnut.com/l/_d18eaj1cwWhK
https://dl.doubtnut.com/l/_CNLA2OVtNCra
https://dl.doubtnut.com/l/_MQ1rA94dLxj1

A. Proton spin

B. Electron spin

C. Nuclear charge

D. Nuclear reaction

Answer: A

° Watch Video Solution

13. Action of water or dilute mineral acids on metals can give

A. Monohydrogen

B. Tritium

C. Dihydrogen

D. Trihydrogen


https://dl.doubtnut.com/l/_MQ1rA94dLxj1
https://dl.doubtnut.com/l/_4oXUrAY6kSbU

Answer: C

° Watch Video Solution

14. Deuterium resembles hydrogen in chemical properties but

reacts

A. More vigorously than hydrogen

B. Faster than hydrogen

C. Slower than hydrogen

D. Just as hydrgen

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_4oXUrAY6kSbU
https://dl.doubtnut.com/l/_D5gMKctZG3ss

15. Spin isomerism is shown by

A. Dichloro benzene
B. Hydrogen
C. Dibasic acid

D. n-butane

Answer: B

o Watch Video Solution

16. Hydrogen can be fused to form helium at

A. High temperature and high pressure

B. High temperature and Low pressure


https://dl.doubtnut.com/l/_M7CuJgwLPvqo
https://dl.doubtnut.com/l/_UbD8U3H4Ievj

C. Low temperature and high pressure

D. Low temperature and low pressure

Answer: A

° Watch Video Solution

17. What is formed when calcium carbide reacts with heavy

water?

A. C2D2

B. CCE.DQ

C. CCL2D2O

D.CD,

Answer: A



https://dl.doubtnut.com/l/_UbD8U3H4Ievj
https://dl.doubtnut.com/l/_ViOH7U1oBtVK

| ° Watch Video Solution

18. The maximum possible number of hydrogen bonds in which

an H,0O molecule can participate is

Al
B.2
C.3

D.4

Answer: D

o Watch Video Solution

19. In which of the following reaction hydrogen peroxide is a

reducing agent


https://dl.doubtnut.com/l/_ViOH7U1oBtVK
https://dl.doubtnut.com/l/_m8JzcIPTmYeQ
https://dl.doubtnut.com/l/_0pjliZSnY4xV

A.2FeCly + 2HCl + Hy,Oy — 2FeCl3 + 2H,0

B. Cl2 + H202 — 2HCI + 02

C.2HI + H202 — 2H20 + l2

D. HgSOg + H202 — H2SO4 + HQO

Answer: B

o Watch Video Solution

20. There is a smaple of 10 volume of hydrogen peroxide

solution . Calculate its strength.

A.3.00 %

B. 4.045 %

C.2.59%


https://dl.doubtnut.com/l/_0pjliZSnY4xV
https://dl.doubtnut.com/l/_XxjfEuKziGAj

D.3.035 %

Answer: D

o Watch Video Solution

21.In lab H,O, is prepared by

A. Cold HQSO4 + BCLO2

B. HCl + Ba02

C.Conc H3S0O4 + Nay0,

D. H, + O,

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_XxjfEuKziGAj
https://dl.doubtnut.com/l/_LDLpyzXSi0Nc
https://dl.doubtnut.com/l/_9vAFIXwxzmDS

22. H,0O, acts as an oxidising agent in

A. Acidic medium only

B. Alkaline medium only

C. Neurtral medium only

D. Acidic and alkaline medium

Answer: D

o Watch Video Solution

23. Hydrogen peroxide is reduced by

A. Ozone

B. Barium peroxide

C. Acidic solution of KMnQO,


https://dl.doubtnut.com/l/_9vAFIXwxzmDS
https://dl.doubtnut.com/l/_L2EYfOKAclZP

D. Lead sulphide suspension

Answer: D

° Watch Video Solution

24. The volume of oxygen liberated from 15ml of 20 volume

H202 is

A. 250 ml

B.300 ml

C.150 ml

D. 200 ml

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_L2EYfOKAclZP
https://dl.doubtnut.com/l/_b2gwsOPiUAza

25.The volume of oxygen liberated from 0.68g of HyO, is

A 112 ml

B. 224 ml

C.56 ml

D.336 ml

Answer: B

° Watch Video Solution

26.The H- 0 -0 bond angle in HyO, (g) is

A.107.28°

B.109.28°


https://dl.doubtnut.com/l/_b2gwsOPiUAza
https://dl.doubtnut.com/l/_eURlH69ptrfW
https://dl.doubtnut.com/l/_iPmXSq1H2xc1

C.104.5°

D.94.8°

Answer: D

° Watch Video Solution

Assignment Section D Assertion Reason Type Question

1.A: ScH, is an example of ionic hydride.

R : All metal forms ionic hydride.

A. If both Assertion & Reason are true and the reason is the

correct explanation of the assertion, then mark (1)

B. If both Assertion & Reason are true but the reason is not

the correct explanantion of the assertion, then mark (2)


https://dl.doubtnut.com/l/_iPmXSq1H2xc1
https://dl.doubtnut.com/l/_0bC6rxU0VSMr

C.If assertion is true statements but Reason is false, then

mark (3)

D. If both Assertion and Reason are false statements, then

mark (4)

Answer: D

o Watch Video Solution

2.A: Temporary hardness is due to HCO; ions.

R : permanent hardness is due to CaCl,

A. If both Assertion & Reason are true and the reason is the

correct explanation of the assertion, then mark (1)


https://dl.doubtnut.com/l/_0bC6rxU0VSMr
https://dl.doubtnut.com/l/_JcD5NFN7tc4e

B. If both Assertion & Reason are true but the reason is not

the correct explanantion of the assertion, then mark (2)

C.If assertion is true statements but Reason is false, then

mark (3)

D. If both Assertion and Reason are false statements, then

mark (4)

Answer: B

° Watch Video Solution

3. A: The molarity of 20 volume H,0, is 3.58 M.

R: Volume strengh = 5.6 x M.


https://dl.doubtnut.com/l/_JcD5NFN7tc4e
https://dl.doubtnut.com/l/_2EPUklJ8J874

A. If both Assertion & Reason are true and the reason is the

correct explanation of the assertion, then mark (1)

B. If both Assertion & Reason are true but the reason is not

the correct explanantion of the assertion, then mark (2)

C.If assertion is true statements but Reason is false, then

mark (3)

D. If both Assertion and Reason are false statements, then

mark (4)

Answer: D

o Watch Video Solution

4. A : Permanent hardness of water is due to the presence of

chlorine or sulphates of Ca or Mg.


https://dl.doubtnut.com/l/_2EPUklJ8J874
https://dl.doubtnut.com/l/_QYKMzFA1XDIA

R : Permanent hardness is removed by boiling

A. If both Assertion & Reason are true and the reason is the

correct explanation of the assertion, then mark (1)

B. If both Assertion & Reason are true but the reason is not

the correct explanantion of the assertion, then mark (2)

C. If assertion is true statements but Reason is false, then

mark (3)

D. If both Assertion and Reason are false statements, then

mark (4)

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_QYKMzFA1XDIA

5.A: Atomic hydrogen is more reactive than naxcent hydrogen.

R : The energy content of atomic hydrogen is more than

nascent hydrogen,

A. If both Assertion & Reason are true and the reason is the

correct explanation of the assertion, then mark (1)

B. If both Assertion & Reason are true but the reason is not

the correct explanantion of the assertion, then mark (2)

C.If assertion is true statements but Reason is false, then

mark (3)

D. If both Assertion and Reason are false statements, then

mark (4)

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_1egj8Ztewwoi

6. Assertion (A) The O-O bond length in HyO, is shorter than

that in O,.

Reason (R ) H5O, is ionic compound.

A. If both Assertion & Reason are true and the reason is the

correct explanation of the assertion, then mark (1)

B. If both Assertion & Reason are true but the reason is not

the correct explanantion of the assertion, then mark (2)

C.If assertion is true statements but Reason is false, then

mark (3)

D. If both Assertion and Reason are false statements, then

mark (4)

Answer: D


https://dl.doubtnut.com/l/_1egj8Ztewwoi
https://dl.doubtnut.com/l/_w5j6D6C6J5pw

o Watch Video Solution

7.A: HyO, reacts with K,Cr,07 to give blue colour.

H,0s can act as reducing agent.

A. If both Assertion & Reason are true and the reason is the

correct explanation of the assertion, then mark (1)

B. If both Assertion & Reason are true but the reason is not

the correct explanantion of the assertion, then mark (2)

C. If assertion is true statements but Reason is false, then

mark (3)

D. If both Assertion and Reason are false statements, then

mark (4)

Answer: B


https://dl.doubtnut.com/l/_w5j6D6C6J5pw
https://dl.doubtnut.com/l/_eFmf1Y8Qv1IQ

° Watch Video Solution

8. A: Water is a poor solvent for non polar compounds.

R : Covalent compounds interact weakly that even van der Wall

forces cannot be broken.

A. If both Assertion & Reason are true and the reason is the

correct explanation of the assertion, then mark (1)

B. If both Assertion & Reason are true but the reason is not

the correct explanantion of the assertion, then mark (2)

C. If assertion is true statements but Reason is false, then

mark (3)

D. If both Assertion and Reason are false statements, then

mark (4)


https://dl.doubtnut.com/l/_eFmf1Y8Qv1IQ
https://dl.doubtnut.com/l/_lSHNGZATP7O1

Answer: A

o Watch Video Solution

9.A: Zn dissolve in excess of NaOH solution so as to give Ho
R: Zn(OH), is neutral is nature.
A. If both Assertion & Reason are true and the reason is the
correct explanation of the assertion, then mark (1)
B. If both Assertion & Reason are true but the reason is not
the correct explanantion of the assertion, then mark (2)
C. If assertion is true statements but Reason is false, then
mark (3)
D. If both Assertion and Reason are false statements, then

mark (4)


https://dl.doubtnut.com/l/_lSHNGZATP7O1
https://dl.doubtnut.com/l/_Mek2Itx3DYw7

Answer: C

o Watch Video Solution

10. A : Complete hydrolysis of one mole of peroxydi-sulphuric

acid gives one omle of HyO45 and 2 mole HyS0,.

R : Peroxydisulphuric acid has zero peroxy lingage.

A. If both Assertion & Reason are true and the reason is the

correct explanation of the assertion, then mark (1)

B. If both Assertion & Reason are true but the reason is not

the correct explanantion of the assertion, then mark (2)

C. If assertion is true statements but Reason is false, then

mark (3)


https://dl.doubtnut.com/l/_Mek2Itx3DYw7
https://dl.doubtnut.com/l/_FGYXkXwdFsL5

D. If both Assertion and Reason are false statements, then

mark (4)

Answer: C

o Watch Video Solution

1. A : H,0 liberate Oy an reaction with KMnQ, in acidic

medium.

R: KMnQO, oxidises HyOy to O,.

A. If both Assertion & Reason are true and the reason is the

correct explanation of the assertion, then mark (1)

B. If both Assertion & Reason are true but the reason is not

the correct explanantion of the assertion, then mark (2)


https://dl.doubtnut.com/l/_FGYXkXwdFsL5
https://dl.doubtnut.com/l/_081sYOv536Du

C. If assertion is true statements but Reason is false, then

mark (3)

D. If both Assertion and Reason are false statements, then

mark (4)

Answer: A

° Watch Video Solution

12. Statement-1: Hydrogen gas is liberated by the action of
aluminium with a concentrated solution of NaOH
Statement-2:  Aluminium  with NaOH forms sodium

metaaluminate.

A. If both Assertion & Reason are true and the reason is the

correct explanation of the assertion, then mark (1)


https://dl.doubtnut.com/l/_081sYOv536Du
https://dl.doubtnut.com/l/_sFMtaPEqRhVm

B. If both Assertion & Reason are true but the reason is not

the correct explanantion of the assertion, then mark (2)

C.If assertion is true statements but Reason is false, then

mark (3)

D. If both Assertion and Reason are false statements, then

mark (4)

Answer: B

° Watch Video Solution

13. A: pH of water termperature dependent.

R : Boiling water has pH less than 7.


https://dl.doubtnut.com/l/_sFMtaPEqRhVm
https://dl.doubtnut.com/l/_o7cRPJdin074

A. If both Assertion & Reason are true and the reason is the

correct explanation of the assertion, then mark (1)

B. If both Assertion & Reason are true but the reason is not

the correct explanantion of the assertion, then mark (2)

C.If assertion is true statements but Reason is false, then

mark (3)

D. If both Assertion and Reason are false statements, then

mark (4)

Answer: B

° Watch Video Solution

14.A: H,0O, decomposes on exposure to light.

R: It is stored in dark waxlined plastic vessel.


https://dl.doubtnut.com/l/_o7cRPJdin074
https://dl.doubtnut.com/l/_iYcFyq923ipY

A. If both Assertion & Reason are true and the reason is the

correct explanation of the assertion, then mark (1)

B. If both Assertion & Reason are true but the reason is not

the correct explanantion of the assertion, then mark (2)

C. If assertion is true statements but Reason is false, then

mark (3)

D. If both Assertion and Reason are false statements, then

mark (4)

Answer: B

o Watch Video Solution

15. A : Dihedral angle of H;O, in gas phase is greater than in

solid phase.


https://dl.doubtnut.com/l/_iYcFyq923ipY
https://dl.doubtnut.com/l/_xwdyoopmBkxe

R: Hy0, has planar structure.

A. If both Assertion & Reason are true and the reason is the

correct explanation of the assertion, then mark (1)

B. If both Assertion & Reason are true but the reason is not

the correct explanantion of the assertion, then mark (2)

C.If assertion is true statements but Reason is false, then

mark (3)

D. If both Assertion and Reason are false statements, then

mark (4)

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_xwdyoopmBkxe

